
	5米=（     ）厘米
	506厘米=（       ）分米（     ）厘米 

	60厘米=（     ）毫米
	10厘米7毫米=（     ）毫米

	8分米=（      ）毫米
	1050厘米=（    ）米（     ）厘米

	70厘米=（     ）分米
	408分米=（    ）米（    ）分米

	10分米=（　　　）厘米
	12米56厘米=（      ）厘米

	400毫米＝（　　）厘米
	80分米7厘米=（     ）厘米

	1米=（     ）毫米
	9厘米5毫米=（     ）毫米

	500厘米=（     ）毫米
	19分米6毫米=（     ）毫米

	30分米=（    ）厘米
	7米56分米=（     ）分米

	40分米=（      ）米
	57厘米=（     ）分米（     ）厘米

	700分米=（    ）米
	1050厘米=（     ）米（     ）厘米

	90毫米=（     ）厘米
	403分米=（    ）米（     ）分米

	5厘米=（     ）毫米
	156厘米=（     ）米（     ）厘米

	7分米=（     ）厘米
	78分米=（    ）米（     ）分米


	3分米=（　　　）毫米
	208毫米=（     ）分米（     ）毫米

	5米=（    ）分米
	2005毫米=（    ）米（     ）毫米

	12米=（     ）厘米
	907分米=（     ）米（      ）分米

	7米=（     ）毫米
	10分米5厘米=（     ）厘米

	10分米=（    ）毫米
	9厘米12毫米=（　　　）毫米

	5000毫米=（    ）米
	5米18厘米＝（　　　　）厘米　

	3000毫米=（    ）分米
	7分米16毫米=（     ）毫米

	1000毫米=（    ）厘米
	20厘米56毫米=（       ）毫米

	400厘米=（    ）分米
	809分米=（    ）米（     ）分米

	30毫米=（    ）厘米
	15厘米=（      ）分米（     ）厘米


基础练习：

12米=(            )分米                 10千米=(            )米       

10米=(            )厘米                 100分米=(            )厘米     

100厘米=(            )毫米              1元=(            )分

10角=(            )分                   1元=(            )角          

1吨=(            )千克                   10千克=(            )克       

1小时=(            )分                   1分=(            )秒

58角=（   ）元（   ）角                (    )吨(    )千克=4080千克
5000千克=(    )吨                      (    )分米=15米
510千米=(     )米                      5米16厘米=(     )厘米
5千克7000克=(    )千克               50米=(     )厘米
470000米=(     )千米                   30000克=(     )千克
210米=(      )分米                      5000厘米＝（     ）米                      

73分米＝（    ）米（     ）厘米          5450克＝（   ）千克（   ）克           

3千米5000米＝（      ）千米            3千克500克＝（       ）千克             

8330千克＝（     ）吨（     ）千克       42分米＝（     ）米（     ）厘米            

10米700分米＝（      ）米              9千克75000克＝（      ）千克
8040千克＝（    ）吨（     ）千克        60毫米＝(     )厘米                        
2吨＝(    )千克                          8米＝(                    )分米                 5000克＝(                 )千克             400厘米＝(                )米                 6000千克＝(               )吨              3吨500千克＝(            )千克              3600千米＝(       )千米(       )米
扩展练习：

480毫米＋520毫米＝(     )毫米＝(     )米   7008千克+1030克＝(       )吨(       )千克

4米+7厘米＝(             )厘米               1米－54厘米＝(          )厘米

830克＋170克＝(      )克＝(      )千克     3千克+200克-2千克＝(       )克    

1米+200厘米=(      )分米          3小时+23分=(             )分
500厘米+20分米=(           )米      50厘米+250厘米=(           )米                       
5米+4000毫米=(             )分米     50000米+43千米=(         )千米                     
6元8角+3元2角=(         )元        50厘米+2米50厘米=(          )米                         5厘米+595厘米=(           )米         280克+720克=(           )千克                      
28千克+4500克+500克=(            )千克   7吨900千克+2吨1100克=(         )吨                   
7吨905千克+95千克=(          )吨       28分米82分米=(              )米                     
280厘米+3320厘米=(              )米      3角2分+6角9分=(             )元                     
619千克+619000克=(               )千克    7元4角2分+5角8分=(       )元                    
1千米50米+2千米950米=(           )千米    3300厘米+52000毫米=(                )米                      
7分+89角3分=(                  )元      3800米+5千米200米=(                 )千米                    
1300千克+3吨700千克=(               )吨    800千克+6吨200千克=(             )吨                     
140分米+70600毫米=(               )厘米
